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1) A.B oy yereflssfsd @mbay FWHMHHO BBEGD Ysiefsela Quobams

DMIDSH .

m B.C ey yeiellssiled Gmba FHMTSH0 MBS Ysiiemosiel pdHms
DUMDHS.

iv) eferr (ii), (iii) @er PWEGBN sHHBGW ysieenw Osrani CQuuwifiBa.
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4)

v)

O ameu sowwonsald OAm sueTwrsad GBIl el LD QTN DINIDSHS.

(Vi) 57 @emwsHs eul L B, C gpdlw o sfseflen o nssd GQeadmsm?

(i)

AB=7.5cm . ABC =45, BC = 6cm eysaysien 1paGarenl ABCxm oimioss.

(i) AABC @si1 ahmisul L GMm3 DiNDHES.

(iil) sul' L. DLEDTML DISTHB! ET(IHSHIS.

v)

ii)

i)

i)

)

1)

)

il
i)

B eusihS eULL ewound amGs smwhaleieg eaaiums AABC srjurss
CINEIGES

AB = 5cm , ABC = 120°, BC = 4cm ay@aysion AABC g sienioss.

AB.C @ nad GaFs0ed aULLLD QSIIND DI6DIDHSD.

AABC gnjurs sulL spwwid 6miBs DieoBEHeTeNg e (GDIIbHS.

A O\
AB=5cm .BAC =90, AC = 4cm sy zaysisn AABC @3 oieminds. n

f
AB . BC . AC aatusumsnm HBrewisenTss Gorarl eul LGDTaTenm HennsHs.,
AABC gnjurs sulL enwouwnd emIBs SienDbHHITENS 6l60s GMUIBHe.
AB=8cm, BAD =60, AD="7cm , DC=6cm , BC = 5cm eymajsien BriLsbse
ABCD ¢ oiminsds.

A.B,D @arLnss GFsOsud aILLD QEIMD DNDHSH.

QILL SMIenl SeNHH 6TIDHIS.
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3.2 welsrenfl gaiflal 2 sl SiHDHS60.

LI1Q (LP 60 [ & 61T
e wrgiGorm WwsBasrewl ABCm susnys.

e BAC,ABC SpSweuniled B Honmnebdlsen
shHEGW Yeteflenw O erenrl Quwifife.
e O@60 @mHs ussw ABaE GsmiEss
PRMD DIMIDSHE.
215 ABm Gsul(Bo yeneflsemen Zsisnils
GuuwifGas.

e Om sowwryw OZ g SpsrwTuLw
CaTemiL aULLLD PRTEND DMIDHS.

......................'....l................-.........
e @ Lid waiGsraiulst ussmsst AB , BC, AC S LEsESMET OBTL(H o
s Qgedsusmed AABC @at o _eiteul Lib eramiiLid.

LA AR B BB N AN L R L N N N N E R E R E R R Y

uuilm &

(1) ) AB=8cm, BAC =60°, AC = 7cm syseysien AABCg oieniwds.
i) AABC &@ 2 sl Ll @&ienn ADInss.
i) eull SLENTEOW SIENHBS SIIDSIS.
(2) 1) AB=7.5cm, ABC =45 , BC = 6cm gpsaeien AABCsy oianwsés.
i) AB.BC,AC gdw ussmsmen QaTHOTD LD QRTIMN MIOHS.

i) eulL SLEDTEOW DTHS 6IIDSHIS.
(3) 1) AB=7cm,BAC=60°, AC = 6cm oysaysion AABC siminds.

i) AB,BC,AC gdu ussmismen OFTLalsmmas OaTaiiL aILLLD @&IeD
DIMIDSE.

i) eulL SLTOU DNHH 6T(SHIH.

(4)) AB=8cm,BAC=60", ABC =45° symeysiion AABCsy sisnivéa.
i) AB,BC g,du Garhaeiss Bmba FwaMS56s AmEEw yaalsalar guosams
SIMDES.
) AB,AC oudlw GanGasied @mbal s50ams6s msud ysielssiar @upsams
SIS B.
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iv) Gumuy slenr (i), (i) Bl QusG®st #hHe@w yarsiew Osel GuuFGe.

v) 0@ Bmba ussd ABéE Cemi@sHa @aion Smnsa %5 ABm Gl G
ysieflenws Zetenl GuuwiflBs.

vi) O svwworud OAg Spemyumud OSTERIL I LD QDD DNLDHED.
(5) ) AB=8cm.BC=6cm,AC = 11.5cm oyseasien @ememagid ABCD g3 oienwds.
i) AACD @& 2 61 aulLlD QDD DDDEHES.
i) sulL ST MBS 61(DSHIS.
4. CaTLel  SiemIoLiL&Esi

* om el gamn @n OCpitsTd G (s Gsseuorular SECHTE o6l
all LsHar OaTHEHTH oives GaTLel aeiuGL. JSCETH JiUaILLEMS
Garhy @Lwb GxsTE yeiefl seriuBio.

e @m alLsHa Gariel Gamdysiaflulsd SimbuD DmIHE QFEIHHBTGSLD.

* oeeE GomigssTe ufduiasien ysialulgm ms b Carh siee L SHler
GaTLE LG L.

P AN

% QeTLe) SIMIDSH . . I
5 55 e O emeu eOLWWOTHS GHTEWL  6ULLLD

RPETEND DIHLDGHS.
o L0 uflduied mrfgﬂ(awrr@ yemedl Agg
GNHs
e OA @ewansH® BL(HS.

o Garl OAGDNE ABs) Coriesas Can(h
PRADD DMIDSHD.

o o9&68a1Hh oy OAdE OemEsHHTe
SimwasTe @& elLsHar Gzmed
eTRTILI(HLD.
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uuflm &
(1)) Oemeu embwioraEaud Scm gy ayeTWTLD QL sul L1 PIEMN DIHIOHSD.

M) @6 el 55MmeE WigGrm Gsrielmw Siminss.

(2) ) ABeaw CuiGsnp gaiom Sisninds.

0) Garlh AB@ed wrgiQurm ysiefl Pgm @nids.

i) Ga1G ABgm P@ed QoG aulLd gaiom Sienwds.

V) ewlLb snjure CarB AB@MG eupmisssaguw Casdlysemal Guwy wng?
(3) ) AB=7cm,BAC=60", AC = 6cm gpseaision AABCom sinwss.

i) BA g A@e Qo' C @arm mss Gssoeud sl Lib PRNEDD DMOBS.

(4) ) AB=7cm.BAD=60°, AD = 6cm oy saysien ABCDm sisninds.

) CAm ABe OGaml( D@@rLress Gasdad el QD Simnbs.
GCommid

QILL Goraimisg GelsflGuiujetsn  ysiefl @aifled @mba auanyuLh

) OsTLelEen @rewiBd BeNHHsd FLoT

i) GzTLelsenmed mowWsHA aHTDWESIUGD CoHTeavmss FoaT DG LD.

i) GpmLeisst GeualliysieflyLel SinbGD GBS FIoM D@D,

B
P
A
PA,PB eaaiusn Goriedsei ou@lb.
PA =PB
AOP =BOP
A A Geuelliysiiel @alsd Bmba U LSHDES B @g,ru_sﬁ]essmnw
APO =BPO oo re
SDIMLDGHSH6V. )
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LG (LD 60 1) & 611

L ]

Osneu awwionss GaTemiL sul LD QIenD DHOHS

sul LeHMNG GeusilBGuw wrgGorgm yetedl Pxm @nés.

O.Pm @omenss.

Gans OP@en Gomighss Banprddl gaimnm imwds 6 Gz OPgm
Geu (o yerreflenws X ereorl GUWIRBHS.

X @ sowvwonsayw XP@m sievgursald Gsmetil. el LD Qe DHDSS.

SielsUl LD (peTenail sul LsHng Gl (B @Lmssnen A, B sten GuwfBhs.

PA,PB m @Goanés.

00 @S0 PO RO OO RO PP OO PP RO OO PRGOS
sienallLds Garewid GCFRIGHTEID aTUBTE) OAP = OBP = 9(° 24,5861 OA_A_
PA . OB -A-PB areiugpred PA , PB Garielsst oL@, 2

L]
L B BN B B BN BN BN BN B B B B N BN B B B BN BN B B A B BN B B B B A B BN R B BN B NN N NN NN NN

uuflm &

(

1Y) Oeneu evwwionsayd 4cm g Spe»IwTsad CETeu. eul LD Qarenm MDD,

i) el LsAnG ufldulsd Aeaepid wngGorm ysieiamws Ghlss A@e GHmHD
2 GoT_slen DNIDDS.

i) AP 6cm oy@wry B siewss Gorieduled Peaeyd q@p ysiellenws @Gios.
v) P@e0 @mphba aulLs550@ Aeaabwrm Qsrieisn Sisnnss.

(2) ) O emeu enwowiomuld 3cm SpedTWTUD GETEmiL U LD QTenm SIENIDSHE.

) OP=7cm oyeworm Om sulLsang GeusfiGw P susny BmLhs.

i) PEle0 Bmpba el LsHnE Bm GsTLelmu DemwHs.
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)9
L)

iif)

BC=9cm, CBA=60", BA=4.5cm sysasien g (pos8sranl ABCxm simwnss.

ussb BC@a1 meuysiel L @60 ussw BCxm GosmGsugid ussd ACiSg
MWD @HLILSIOTET QUL H60G DmEE. BHa awwsims O el GuwifiBs.

CL gally Culelmpbal sul LHHmE sumnyussss wpsnnw GaTielenu Dimnss
yeirefl Pufled spdla@worm <2561 sdsmwujd Garh BAmud BLrbhs.

iV) APBC @&t 9@ 6lBsL Gasdysenis @uisdenll 61(10&IS.

(ORY

b)

5) a)

b)1)

i)

PQ=6cm,PQR=90", PR =8.8cm o4 @mé@onm péslsmani PQR & oiennss.
w&Barenl PQR @er ussd PQeneu Qelaud ussid PRgm e ysemedl L Gewd
CaTHLTN umTLSHHS Il LSS mwwsHar lewansus saB dipemer C
61601 Gluu.nﬂ(_r_‘,&.

DIGUGILL HMSH DINDSHSD.

BT SinnsHs allLSHa ey T eaid Gamah disail L SHHer ugliusnaln@iD
w&Bameni PCR@sn1 uyliusnain@iflsn G o eiten aldlsd r= 1.4 @h&& swbioer

&ML (Hs..
(n :% steor LaBmens.)

Gunenss ysiell CH Dimbeas STausDES B LWsTUBGSSHW (PoDeusH
sy SBMHEG 2 &hF Caubmrm (Wwmmewd GCsfalss.

) AB=6cm,ABC=90", BC =4cm symeysien (péGsmeafl ABCm oismwds
AB enw D@60 FhdldGomm A&B et B FmpTadlml DDIDHBSD.

D emw emwwiorsajd BDenw oyegunsepd GasrmemiL eulLHms auen)sH.
AleSmpha el LsHN@G AE , AFasign @m GFmelsmen siennss.
AABC @60 evussidar  Casmpmsmsi HgGwrdlgs AC ulear HarsHams

J3 gar snjied sms.

(w&Basmewl AED uleir ugliusiey [13 ) )
. : ; = = | eienis &ML(Ha.
wpaBsrent BCD ullssr ugliuensy 2

ussd ACulal Bmsms Sebs AHepbHal [13 BT GUIIOTAISMS (PSOTLD
55WSHNG OGuis
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5.1 QzmenL&sen (Sets)

* Omefouns suengL@esILLL SlLlD GHTeL  eTemiuBLD.
* QzTenLen GUUUSHEG UWLSTUGSSULBL GYWG { ——-- }
2 +1b I. { s dlsd 2_siten HILHei |
I1{0@aud saigws 10Red GwmHe BJLeNL ET6NISHsN |
[T1. { ewev euijeommissi |

* OaTeLS6  DIEVEVTHEMEN
AMTUDISS (PRUTSHABMD SiSTaud FBULDFRISMMS GBIULIGOMD
QETOLWISS SHSBPIQUITH.
o +1b [. 2 wywrer wremeuaHsit
I suwsmen wremelss
* OarenLsmenl QUL sy GFLCL(WSHEISSHmeNn LWLSTLIGSHSHEVMD.
* OzrenLsemen sIPSHE STL([HH60
weom | : Garibseisd 6110HIH60
o +1b A={aumyshed 2 siten HILS6N }
apaom 1 : epsosmisst wreupsnpud elflds @il S Ulgiel eTpSHISHe0.
o +1b A={ Husshr, QFsueumil, LpHe, elwmpes, Geusiel, e, ebTulm}
e 111 : apsvsmusenst Upliiseo augeutd
o +ib A= {xX/X, aurjHHed 2 _siten [HTLSH6N |
wenm [V : Geusiisufliiu HHlsd suems @nHH60

9 _ T+ 1D

ehTuiml, Hrubsit
Glaausumii, Lgedr
sllLLImLpsdl,
sl
L

vulpd 1
& syl Bsien @suGsuray GHTenLenwd ellGniu getagh @m OoTmLd
GUUILG psomulsd spHIS.

P={108aIb GoDbhd WPHEMD 6lemiHsr |

Q= {208au> GOBHS FHI BT |

R={18Be0 $@beL @mLiulL @leL eemss)

S={]eamib WpHL sIUQHHe0 2_6iT6N LOTHEIH6 |

X={ 1@Beb 258b6b B Cw 2 den 4@ LLRGSsT |

<ZER"™
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* apsvsid (€ )
QO GpramLuied o sten 2 @Il bSsT HHOHTDLUTE ApeEHRISST 660l ILIGID.
o +1b A=1{2 4, 6, 8}
CLPEVSBLD Q& remL
2 - A
2 gyeum Geprenl A ullshl @ epsusID

* om GemeLuls @m apsusld @ (Weom Wi BEW supsUILGD.
2 +1b “DOOR” aigmitb Gamevelisd 2 siien siupsHaibobeien QHTenLenwl 6110557
X={D,0O,R}
* WPSOEID &
HHSUUBLD GFTamulsh sTemiluLTs o milibss SSHCHTamL U6 APsvHBLOBID).
o +ib A={2 3,5 7}
4 GprenL. Aule eevsLD6ID)
4 & A

uuimd 2

. GarenLs @nuiligsd aBHHIMTHES
L 5 Gzmemr X @6t @@ cpsusid
[I. 7 Gerenr A &1 @ eps0BLO6HIL

2. Ggnemls GUluTligsnss Siebevd GFmBeemsnl LWSLGSS GCeoubriLHams Birliys.
| R RO 1 (p5Baremiiss )

I WEMNBE oo | (PEDEOULL 1 }

. oaSHTHEBD oo, { epsv e ETITRIG 61T |

IV. X=1{1.24.9} 16061 6 .oooooreiieiic X

uuilpdl : 3

Ussiaumo GHTenL Serlsl ApeuSHISBN6T  61(105HIH.
[. A= { MATHEMATICS eisti3 GlgmsusllsL 2 _siten s1(1pd&usHH61 |
II. B={ 108> &omhs (WpHeaen semissi |
IMl. D = {208ub @Geombsd 3@ 0L BT |
IV.P={x: x<15, @ienm erevirambsir}
V. X={x:5x<30, x, 5@6i1 10Lmigassi1}
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wselemw -
@m CETemLulsd 2 _eien  epsusmIEBeTIeH sleiienldHems Db Cghment uiss
(pHedemie stellILBD. @m GetemLula (weslamw n(...) s GuBlesuuBLD.
2+ A= { 108BE GBHD (PHIEND TS |
A=412,3,57;
= n(A)=4

vulpd : 4
Usiiauml GeTenL send@fil ApsosmIEemsn 61(1085 (PHeTlennem SHiewrs?
. A= {208Be0n 30@BE0 S L @Il s |
I.B=11 Gasm &sb 10 cisnywirel ceuiild 66w |
111. P = { cunsmiafsvadlel o _siten [Simmimbsit |
IV.T={ COLOMBO sigoitb  Glgmsvellauisiien  eT1(1psha&Ibemei |

* (pyeaysiien GHTeML
Qm CHTenLulsy 2 si6T  APSVBMISET (PgasienSTulled SiHl  (Wpigeyeitsn  Gghiremt
sTeaTLILIBLD.
2 + 1  A={208s0 @GemeuTer 3@ DL BIGS6T | :
B=1{ aynglv CpbBrsemsslsusien 2 uil] s(pHHibE6 |

* (pyeiledls OCsTenL -
Qm GCoTenLulsd o _6fien ApeSEMmISET PIPallLEUTHI STEULILLTED IS
wyalslls GHTEML BELD.
2 +1b X= | GULenL erewisen |
D= { gy eiemisen }
vuiid 5
g0 sSriu L GFmenLssnet  (pigalledls CdHmemLssi, (pigeysiien  CHTeNLSH6N 616N
CoumubBHHIsH.
[ X={18B@0 S@BE0 GLUULL (LpHET6nD 6amEen |
IL P={ drssit ufl vsde;:d CoHmbmud umLmiss §
L. Y = { upsCmnam sieutiamen |
V. U= {8462 sTapid eTemiemiled o _siten @60dbHmidbsN §

280s0sTemL (E)
ey GHTenL &6l HIUUBLILHE SiHmen ams@ne@l wWel Gufu QHmenL
DIFle0H0IBHTEML  sTaLILIBLD.
2 +1n A= { wsCsrenl, SipGsrent }
B = { waCsrenf, mmiGsrenl | seiLsms
ams GGG UTmSSLTE HABlvHESTmL Wiemands SHmHs.

E={ usBzsmemiamsi}
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CsrerLulfley / 2 _uGsTenL [c]

A,B amib Bm OamenLsein SHriulgmbsrse GerenL. B@sh o_sien epsvsmiserie
QamemL AGlsd (Lpgenowinsg 2 sl sl gmbhoHTsd B seiiug A @6 o uGsTem
SUGLD.

o +b A={2,4,6}

B= {2}
B astiugy A @6t 2 _LGHTEL  SUGID.
BcA
D={8.9} aietflsir,
D 9( A
D esiiug A @& 2 uGsTmL Sieim
vliBd ;6
2 _ubstenL, o UGSTLWIME aarusbBpien CuImHswra Gileaw SBHs.
L {5} {2,357}
I {2,4} {6, 8. 10 }

¢ FEHTEL H6I
@m CsremLserist @B cpsudmIBET STOMILLLTE Sieney  SyewiHid

FOOHTELH6T  YGLD.
2+ A= { 10D GomBhs BylenL eewisen } A= {2,4,6, 8}

B={2.4,6,8}

~A=B

OxmenL. Auflsb 2 6ien eevEmIBEHD CHTenL Bulsh 2 sien  epsudmisEnd Fios
SLGID.
goagsosTeL : [ ~]
Bm CHTenLS6Te0 (LPHEVenIDSsTT FoMUils Sisualh CHTENL BEHD FIOAIEISHEHTENL BH6il

DSLD.

2 + 15 P={C,0O,M,U,N,LA,T} Q={G,E,N,RATLO)}
n(p)=8 ’ n(Q)=8

~n(P)=n(Q)

3P T
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uuliped - 7
Lesumd GBToLSaMs FoaMISESTMLSMMSH GCH .

. X={al &, L} Y=1{235}
1. T=145, 10, 15, 20}. P={3, 5 7. 11 }
N.A={ 10@B& ©oBbHS BIL ML clwIDHsl |

B={ 10@b& G®Dbhs 2861 WLMG aause |
IV.P={ TEN sty Gamsvelsy 2 sien s1(pHSEIGBH6M |

Q= { NET s16tip QFmsvellsy o_siten 61(HHIBH6T |

uuipsd : 8
Ueisummd QeTemLseled FLHTMLSMmeND GiHflE.
. P={x:0<x<10,x @JLeDL 6I60IB6T |
Q={ symdleo 2 Wl 61(RSSHISBHE }
1. X={TEA eistip Ggmevedied 2 _6ften 6I(pHHIHS6 }

Y = { EAT eistip  Q&ms0edsd 2 _aiten 6100HHISS6 }
.A={2@aub alpw 10@NID GHMBHS (PHENEHID 6TEWIB6TT |
B={1@ab &migw 10@Id GODHS MDD eIbiH6N }

IV.D={ m&rb sigb GFredelsd o 66N 61(0HHIBH6M }

E={ sy am@ib O&reelsd 2 sien 6i(RHSIBSST }

* QpreL geamer Byl -
OpTenl. A@s0 STEmlLLTSH BeHEHTmLUllsd STl ppsummiset A @6 B
CmTenL. DYGID.
o +wE=%{1,2,3,4,5,6,7,}
A=1{2235,7%
OorerL A @e Byt A' @emed @EILULOUGLD.
A'=1{1,4,5,6}
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vuims : 9
1)E ={6,7,8,9,10}
A=1{6,8, 10} sreifictt A' g sreviias

e
2 =
1)
R
6 4
GeusiiaufiliLL S LweUBSHS P! & sremis?
IHE=1{10sT dsb 10 eumyuTer cebigd amss }
X={2.357

X' srems?

¢ Qapbosterr. / GelwgsosTanL
GBUIG - {} 2deom O
QM PGP BTEUULTS GHTenl CeumbOsTemL  sTem LG,
et LA= {10@b& eophs 128 ke s }
I.B= {I@bor 2@Bow @LUULL Wl eemsei}

¢ @ Oeaul (B

B OFrmLss SruUlLTeD, SeuBls GQUIgGITE 2 6len apeoshimst Sisueln
OeTemLwmaigio e Geul B stamiLBio.

A={2,4,6,8}

B=2,3,5,7}

A @ Geu B B esiiug AnB@eumsd @oliiiLOuio.

AnB={2}

@enL_Ceu en GeuesuflliLiL 8560 HST_L 6D

ANB
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¢ apfuys GCsTeL
By GBTELSET SIUULLTE DeUBIed 2 silen SimaHHI ELOEVEBMBISENETUILD  Clabaodi
QpmenL Sisusi@m GBTenLseiss iy SGLD.
9 _ + b
X=1{5,6,7,8,9,10}
Y=1{5,10,15,20}
X gamiiy y seug XUYea @Hudiouih.
XuY=1{5,6,7,8,9,10,15,20 }
@@y ST Gausbere CeereufliuL b
4
S

Aupb Bupp @eoL. GQau Bid (‘E’urr@
3

I)
- B, 4 1_/—‘%:%‘

F N
Fs r s X . Y
i vs T

) & Y

p —
i_

i) S BcA @b Cursl
111)
A —
vuipdl - 10
) oL GeusaufliiLL &0 LleoiheraiouBenBe: STewis.
D) ANB inasuiiiisinsiisiasiisee
g
e 1.1 S ) n(A)
TV)D(B) covvoreerieieeesssesssssesssissessaens
W DAY conosisiisip sisvorpiisisgsisissmiseviss
@ QPLLIB[B ng“‘&ﬁL VI)“(AUB) ..........................................

@m Osren selen B Gan (g GCiHTenL CoupbOsteLwmuies Siemey  epLL BB
QHTenLB6T sTUILIBLD.

A=1{4, 8 12, 16}

B=1{3,5 7}

~ArB={}OR @ -



Al LBB CerenLdsren GeusieufliLiL b

=
=

e

4 8
A —1\I2 16 @ 5
uldpdE ;11
&8 sruulL OFmemLseflsy aplLmbm CsrewLsemens Coifls.
. X={2,4,6,8} Y=4{2,3,5}
. P={&, v, 60 } Q={m®, w, &}

ML.M={ 208> GOBHS (WHGsremll erewims |
N={ 208D GMDHSH (PHHEVID 6CT6WIHE }
IV.A={10,12, 14} B={5, 10,15}

uimd 12

£
=]
A, B esiiust @ QPHTenL &6l D srefles i
Ueiisumo CerenLsensm  GeusmsufliiuLHg5s0
e S - -
Bone B [Hs.
D A M B ) ANB IV)AUB V)A!
VII) (AnB)! VIII) (AUB)!
2 +1b

£={1,2,3,4,5,6,7,8,9,10,11}
A={2,3,57}
B={2,4,6,8, 10} ssfen

[. spiu L seassmend STl GaseufliuLd simys.

I ANB sremis IIT) AUB
V) Al V) B! vil) (AnB)'
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cuimd ;o 13 . -
A, B sanib @m OsrenLssi CeusiisufliuL G&ls0 Sruul (Beiemneor.

=
S

. A= 2 Gsrssd 12 susngsiten 2@er wLmGsst | Reusurmy GsrenL. B gouyn
TDDIS.

1. A' @e1 esosmISMeT STIHSIS.

1. GsrenL {6, 12} @ A, B sysflweupnienr aniied siqpmis?

V. (AUB)' @61 apevsmisei sip@is.

@ Bm GnTemLserie (1pHedlennd6mdaS L uileomen GgHTLiL)
A, B sigtiuest @enL_Geu_ B0 GsmenLasei

A PUS BRI
n(AuB)=n(A)+n(B)-n(AnB)
=4
]
A = .
®_ + b

A={2,3,57} = n(A)=4
B={2,4,6,8,10} = n(B)=5
AUB=12,3,4,5,6,7,8,10} = n(AUB)=8
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